Answer for the reviewers’ comments
Article : “Energy absorption characteristics of annealed steel tubes of various cross sections in static and dynamic loading”. 

      1)  Sentence starting at line 32, page 2 “These tubes are used for automobile structural components…” is irrelevant, some of these examples are structural components, other energy absorbing, etc. but this does not mean anything 

Answer
The above sentence is changed as 

“These tubes are used as front impact beam and side impact beam in automobiles”.

2) Paragraph on page 3 at line 12, from “Alexander” onwards: this is a rough discussion of almost 50 years of literature, and it is not really useful in this context 

Answer

            The particular discussion is rewritten. The details are required to understand the current work.
3) Line 32: moreover many authors have shown that when the fold becomes completely external a sort of instability occurs leading to the transition from concertina to diamond mode This is instead not discussed on page 5 (section 3.1) 

Answer
There is no such kind of fold observed in the tested specimens. So it is not discussed in the section 3.1
4) Page 8, line 4: the experimental technique to measure impact speed is very simple and does not allow to obtain the speed variations during the crushing phenomenon, and displacement neither. Double integration is to be used very carefully and it’s not recommended to obtain the displacements vs. time 

Answer
The accelerometer used in the experiments is of piezoelectric type. It has the measurement range of +/- 500 g. The frequency response of the accelerometer is 12000 Hz.  The maximum velocity used in the impact tests is 8.28 m/sec only. So the accelerometer has the capacity to capture each and every data of the process. To reduce the noise we use low pass filters and conditioners. The data acquisition system has the frequency response of more than 12000 Hz. So the data is recorded effectively. The double integration has been used carefully.  
5) Page 8, line 32: the authors state that “there is no distinct relation between peaks in the load deflection curve and the number of folds”. However, from figures 7 and 8 it is hard to imagine to derive anything 

Answer
In quasi static axial compression, the load displacement diagram clearly indicates the number of folds formed in the specimen. The axially compressed circular tubes are shown in Fig 3(a). The corresponding load displacement curve is given in Fig 4. There is a direct relation between the peaks in the load displacement curve and folds in the specimen. The impacted circular tubes are shown in Fig. 7. Two folds are formed in the tubes for the impact velocity of 7 m/s and third fold is almost formed for the impact velocity of 8.3 m/s.  In the corresponding load displacement curves that are shown in Fig 8, though clear peaks are not visible, the trend of increasing the load value after first peak is seen. Hence Figs. 7 and 8 are important. 
6) Page 10, line 31: the speed difference is too small to draw any conclusion on velocity effects (from 7 to 8 m/s). To obtain a significant trend, it is required to have results obtained with impact speed variations in the order of one decade. Instead, to determine a transition between collapse modes it needs much more tests at different speeds than two only 

Answer

It is observed that for the impact velocities less than 7 m/s, we could not get one complete fold.  The present system has the capacity to operate for the velocities up to 8.5 m/s with the impact mass of 110 kg. Hence experiments are conducted with in this velocity range. The energy absorbers are designed for the maximum impact velocity of 15.5 m/s. However the results can be used for higher speeds up to 16 m/s by extrapolation. 
7) Page 13, line 3: the sentence “From the test results it is observed that the percentage energy absorption is same for tubes of all cross sections” is not clear and also not relevant or even wrong 

Answer

The sentence is modified.
8) Some lines below: “The average energy absorption is around 80% of the input impact energy”. This lack of sense, or it is at least not clear. What about the remaining 20%? It is said that “amount of remaining energy is converted as heat energy”. I would say most of the input energy is converted to heat in plastic deformation. Some is stored as elastic energy, then restituted but this is a small part 

Answer
The sentence is modified.
